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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission. E |

Submission Page:
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Version:

This is version 1 of the instruction booklet.
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1-5 Classic Sudoku

Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box

contains each digit exactly once.

Example Solution
1 59 1|8 6(2]4|7 3
6 36 7|5 9/412/1 8
8 9 82 411 7/3]6/5 9
1 9 5 6 113 2|19 85|74 6
4 3 / 8 64 5|3 17|98 2
9 4 6 1 9|7 8l4 2[/6]5/3 1
7/ 4 /7159]|6 3|/1]|8|2 4
8 6 2|8 3|7 491165
6 411,612 5/8]13|9 7

6 Quadruple Sudoku

Apply classic sudoku rules. At some intersections of two crossing grid lines, a set of four digits is
given. These digits must be placed in the four adjacent cells.

Example

Solution
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7 Expanded Sudoku
Apply classic sudoku rules. The rows and columns continue over an empty space.

Example Solution
2| [3]6] |9 7|54 211/3[|6(8]9
9 5 6(1]3 419|8(2(5|7
5 |6]1 4 28|19 5/7/6[1(3]4
9 8| 73] |2 9(5/1]8|6|7[3]4]2
2 9 3|7/6[1|2]4[5]9]|8
3| |9|7] |6 4(8(2]3|5|9|7[1|6
5/ [2]s8] |7 5(9/2|8]4|7[6]3]1
6 9 3l6/8[1(9(5(7]4]|2
1 716 |3 114|716|2(3]9|8]|5
9| |5]7 |8 9(3|5|7/6]|8 4/21
2 1 4|12|6l5]1|9 8|7
8l [1]2 |4 8711|234 9|65

8 Toroidal Sudoku

Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell
region contains each digit exactly once. Some marked regions wrap around the grid from left to right
and/or from top to bottom.

Example Solution
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9 Inequality Sudoku
Apply classic sudoku rules. If there is an inequality relation marked between two cells then the digits
placed in the cells should obey the relation.

Example Solution
8|76 48716911523
1 A >A 4 AY <v 1 §<5>% 4 Z>6<§ 9
2 v A 3 Vv A 2 @ 9 {/5\ 3 § 1 Z 4
3| > < |2] < < 315>4<8(2|6<7<9 |1
9(8\|7 3145 6/9/8|7|1]3|4/5|2
< <A 5 > >v 6 7 1<2<ﬂ 5 9>8>§ 6
L Tel L7 814T3[sle 5]2(117
> < 7! < > 8 512>1<3|7|4<9>6 8
2|34 9|7/611|8[2]|3/4|5

10 Windoku
Apply classic sudoku rules. Each of the four shaded 3x3 regions must also contain each digit from 1-9
exactly once.

Example Solution
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11 Round Off Sudoku

Apply classic sudoku rules. Each cage clue indicates the value of rounding off the two-digit number
within that cage to the nearest multiple of 10. Numbers ending in digits 1-4 are rounded down, while
numbers ending in digits 5-9 are rounded up.

Example Solution
13 67T 8i5/1]3|7|9]64]2
6| o] 1451 ] 6/92]1/4/5[7/8]3
70 0L R 3/7/4]6/81i2[511]9
8| Pl 411/8|716[3]2|9]|5
L2 4 L [5/3]6]2]9|4|1]7]8!
M E 9/2/715]1:8]|3|6|4
T ]2 714T5]8i3[1[9]2]6
N EE N 216/9]14(57]813 |1
2 13 6 | ] 118]3]|9/2/6[4]5]7

12 Sequences Sudoku
Apply classic sudoku rules. The digits along each marked line have to be different and must form an
arithmetic sequence in the correct order. Two straight lines may cross each other.

Example Solution
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13 Anti-Consecutive Sudoku

Apply classic sudoku rules. Adjacent cells marked with X cannot contain digits which are consecutive
to each other. Not all such adjacent cells are marked. In other words, adjacent cells with no marking
may or may not contain consecutive digits.

Example Solution
9x | | x1 812]9x3|7/4x1/5]6
1] x9] " |6x |4 7]1|5%x9|2/6x8/4|3
X |8x 4] x2| «x 9x5|8x6 |4|7x2|3x1
3| x 9x |8 1/3]7x2(5/9x6|8|4
9| x1| 18x |7 3/9]4x1[6/8x5[7]2
1x x4 5/8[1x7/3/2x4/6/9

14 Min-Max Sudoku
Apply classic sudoku rules. Each number outside the grid is the sum of the highest and lowest digit in
the first three cells in the corresponding row or column.

Example Solution

6 11 15 10 8 13 6 9 13 6 11 15 10 8 13 6 9 13
8 14 8(213/618[1|4|5 7/|9]14
10 7 11 101149127 |5]|3 6|8]|11
13 5 1315876391 2|4]5
11 12 M7(9|2|3/5/1|4 8|6]12
7 8 10 714/61119(8(2|7 3|5]10
11 10 1113(5|8|4/6|7]|2 9|1]10
7 13 76111315289 4|7]13
12 9 8 12|18 |71411/9/3|6|5|2
11 9 1119(2|5|7/4/6|8|1|3
15 8 8 8 11 11 15 6 9 15 8 8 8 11 11 15 6 9




